
 

 
Maths – Money Word Problems 

 
banana  = 13p 
orange = 12p 
grapes  = 19p 
apple = 10p 

strawberry = 7p (per strawberry)  
pear = 11p 

 
1. What is the total cost of a banana and an apple?  

 
 
 
 

2. What is the difference in price between the strawberry and the orange? 
 
 
 
 

3. If you buy some grapes and a banana, how much change would you get from 50p 
 
 
 
 

4. The total cost of all the fruit is 72p. Draw 3 coins to show this amount. 
 
 
 
 

5. There are 10 strawberries in each punnet. How much does the punnet cost? 


